63CC CHICKEN COOP

's Manual

Owner




6x3x2m

LIST OF MATERTALS

& | DIMENSION STYLE PIC QUANTITY
@ 1420mm 4
@ 1925mm B 15
© 970mm I ——— 8
@) 1540mm 8
B 1680mm 2
®) 6:30mm 1
A 312+1595mm Door left 1
B 310+1595mm Door right 1
C 500mm Door buttom 1
D A 6
i L :
b2 i- -
' + !
: i z

Hinges: 2 pleces
Lock: 1 set
Clips: 6 pairs
U Clips: 2 pieces
Roof': 1 piece
Rubber rope: for roof
Parts Binding w?re: 1 plate 1
PaCkage Cable ties: 1 package

M8 square heard screws: 8

M8 screw nuts: 8
M10 square heard screws : 4
M10 screw nuts: 4

Electro hex: 1 pieces, total 26 meters




6x3x2m

1.
E2
F e @ .
" @

El i T il
~ @ o S T ® El

@ == 4' III @ )

G B 2 \Fj
2
A







6x3x2m

Reticulation Roof

5850mm

i

B

|
2100mm >

) |12
g By
Gt
S |
i o | T
i s b e
R | | 4 j —2

2010mm

2010mm 1010mm




5D N5 5 W B B W B W N (A

5T

NS "%’;‘;‘;‘5 02895
8
1 e

OIS « @ !

@ .‘\.;\'«,"’ ” g!.’g” Q %

it
S G e s 0900005 055200655
A 9009, 10809552
s Evf%}}}gu”” 2

(9

1906099552
sttt
Ie6e5ec 225

g

Contact Weave Support

Need service or support?
Start your request by Emailing Us.
AND we will find you a Solution.

@ HelloWeaveGaming@Gmail.com

We will get back to you within 24hrs.




